1. Determine in which quadrant or on which ax e
terminal side of each angle lies. ,UJI
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3. Convert each into the other unit of angle measure. Round angles measured
in degrees to the nearest tenth if necessary. Give radian answers in reduced

fractional form and in ter Of'IT
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4. Write an equation of this function: A
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1. Write an equation of this function:
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3. y=—13cos(10(x + ?Tﬁ)) -8
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Classwork

Graph one period of each.qLﬁl th cﬁrdinates of the Max, Min, and points
on the midline. / | %YY)
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2. y= 65111(89‘)

4. Given tan d cosf >, c ¥ 0 such that 0 < 0'
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5. A 70 foot long rope is attached to the bottom of a window of an apartment

building. The rope is pulled tight and anchored to a stake in the ground. If the stak:

is 55 feet from the apartment building find the angle the rp
building to nearest tenth of a degree. 5'
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Given cosf > 0 and sinf = 2 find tan®
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Write the equation of this graph as both a Sine and Cosine Function
Extra problem.
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Find the exact value of each.

a) Tan(-1830°)
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b) Sin?>

¢c) Cos—2%



